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QUESTION 1

Which statement is true about how if-then rules are processed during an inferencing session? 

A. Rules are evaluated in the order in which they were added to the ruleset. 

B. A particular rule can be fired only once in an inferencing session. 

C. The effective date set for a rule can take it out of consideration for evaluation. 

D. A priority setting of 1 causes the rule to fire during each inferencing session. 

E. Rules with multiple IF conditions receive higher priority during evaluation. 

Correct Answer: AB 

 

 

QUESTION 2

The initial performer of a task is determined by the role associated with the swim lane in which the task is modeled
except when you use a(n) _______. 

A. complex task 

B. user task 

C. FYI task 

D. group task 

Correct Answer: A 

Explanation: A complex user task uses a complex routing flow that is defined within the humantask.BPM Studio offers a
number of human task patterns out of the box, to make it easy to implementthe most common types of human tasks.
For example, the Simple pattern just assigns individualusers or groups. The Management pattern is used for a
sequential list of approvers up themanagement chain. Initiator is for the person who kicks off the process.For most of
these,swimlane roles are used to determine assignments. For the Complex task, however, the swimlaneis irrelevant,
and routing and assignments are typically more complicated.Note: Swimlanes are the horizontal lines that run across
the process editor. All flow objects mustbe placed within a swimlane.Swimlanes can also be used to group flow objects
based on the roles defined within your process.Swimlanes that contain user tasks must have roles assigned to them.
Swimlanes visually displaythe role responsible for performing each flow object within your process. Additionally, you
canhave multiple swimlanes that are assigned to the same role.Swimlanes can make your process more readable when
you must use the same role in differentparts of the same process. 

 

QUESTION 3

Which two statements are true about BPM Suite product architecture? (Choose two.) 

A. The Process Asset Manager is a container of reusable, shared, implementation assets available to all processes
within a BPM project. 
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B. Business architecture modeling is supported by a third-party product that Oracle resells as part of the BPM Suite 12c
product family. 

C. BPM Suite leverages SOA Suite infrastructure and tooling to support key design-time and run-time features. 

D. case Management is an Oracle add-on product to add adaptive case management support to BPM Suite. 

E. BPM Suite supports BPMN process modeling notation in both BPM Process Composer and BPM Studio. 

Correct Answer: AD 

 

 

QUESTION 4

Which two statements are true about running and analyzing simu-lation results? (Choose two.) 

A. You must wait until a simulation run finishes in order to see up-to-date results in charts. 

B. During a simulation run, in-flight instances are always allowed to finish before a simulation completes. 

C. During a simulation run, cost and time data are automatically collected for all activities, events, and gateways. 

D. You can use only Business Process Composer to create and run simulations. 

E. The number appearing above the left-most bar atop an activity represents the high water mark for the queue. 

Correct Answer: BD 

Explanation: In Business Process Composer you can only run simulations based on test data you define using Business
Process Composer. 

 

QUESTION 5

Which three options are human task patterns that cause the token to wait in the calling process until the human task is
completed? (Choose three.) 

A. FYI 

B. Initiator 

C. Management 
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D. Manual 

E. Group 

Correct Answer: BCE 

Explanation: Pattern Description 

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/
app_bpmn_ref_bpmcu.htm#BPMCU87357 
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